

A, P)

Gradus

: 1^{er} o. 2^{er} inter. rel. rel.

$$a_1 = f_0 \quad a_r = q_1 \rightarrow a_r = a_1 + r d$$

$$q_1 = f_0 + r d = r d = r_1 \Rightarrow \underline{d = \frac{r_1}{r}} \rightarrow a_n = V_n + r r = r_0 \Delta$$

$$V_n = 1 r \Delta \rightarrow n = \frac{r_0}{r} \Delta$$

$$101, 101, 11 \Delta, \dots, 99V \xrightarrow{99 \Delta 12} V_n + 9 f < 1000 \rightarrow V_n < 909$$

$$V(149) + 9 f = 99V \rightarrow \frac{99V - 101}{V} + 1 = 149 \Delta$$

$$a_{n+1} + a_{n+r} + a_{n+r} = -q_n + 1r \rightarrow a_1 + n d + a_1 + (n+1)d + a_1 + (n+r)d$$

$$r a_1 + r n d + r d = -q_n + 1r \rightarrow r n d = -q_n \rightarrow d = -r \rightarrow a_1 = q$$

$$a_{1r} + a_n = a_1 + 1r d + a_1 + r d = r a_1 + r r d \Rightarrow r(4) + r r(-r) = -r r$$

$$a_{1r} - a_n = a_n - a_{1r} \quad r a_n = a_{1r} + a_{1r} \quad r(r^{n+1}) = (r^{rn} - r) + (r^n + 1)$$

$$r^{n+r} = r^{rn} - r + r^n - 1 \xrightarrow{r^n = t} r t = \frac{t r - r + t - 1}{r t - r} \rightarrow t = r \rightarrow r^n - r \rightarrow n = r$$

$$a_{1r} = r^r - 1 = r \quad a_n = r^{r+1} = 1 \quad a_{1r} = r^r - r = 1r \quad r + 1 + 1r = r r$$

$$t_{1r} - t_{10} = d$$

$$t_{1r} + t_{10} = r d$$

$$r t_{1r} = r_0 \rightarrow t_{1r} = 10, t_{10} = 10 \rightarrow d = \frac{10 - 10}{1r - 10} = r, d$$

$$a_{1r} = a_{1r} + q d = 10 + \frac{r d}{r} = r r, d$$

$$A_1 = S_0 = \frac{\omega}{r} (a_1 + \overbrace{(a_1 + fd)}^{a_0}) = \frac{\omega}{r} (ra_1 + fd) \quad (9)$$

$$A_2 = S_1 = a_1 + d + a_1 + fd + a_1 + vd + a_1 + 1d + a_1 + 2d = \omega a_1 + r \omega d$$

$$\frac{\omega}{r} (ra_1 + fd) = \frac{1}{r} (\omega a_1 + r \omega d) \rightarrow \omega (ra_1 + fd) = r (\omega a_1 + r \omega d)$$

$$r \omega a_1 + r \omega d = \omega a_1 + r \omega d \rightarrow d = ra_1 \rightarrow a_1, r a_1, \omega a_1, v a_1, \dots$$

$$a_1 = \frac{r}{1}, r, \omega, v, \dots \quad A_1 = S_0 = \frac{r}{1} = r$$

$$a_n = a_{n-r} + 1\omega \rightarrow a_1 + ((n-r)-1)d + 1\omega = a_1 + (n-r) + 1\omega \rightarrow d = \omega \quad (10)$$

$$a_q = a_1 + 1d \rightarrow a_1 + 1(\omega) = a_1 + r_0 \quad a_\omega = a_1 + fd \rightarrow a_1 + f(\omega) = a_1 + r_0$$

$$a_v = a_1 + 2d \rightarrow a_1 + 2(\omega) = a_1 + r_0 \quad a_q^r - a_\omega^r = (a_q + a_\omega)(a_q - a_\omega)$$

$$\frac{(a_1 + r_0) + (a_1 + r_0)}{ra_1 + r_0} \times ((a_1 + r_0) - (a_1 + r_0)) = (ra_1 + r_0)(r_0) = r_0 a_1 + r_0$$

$$\frac{r_0 a_1 + r_0}{a_1 + r_0} = r_0 \quad \text{بذلك}$$

$$d = \frac{r + \sqrt{r} - r(1 - 9\sqrt{r})}{1r} = \frac{r + \sqrt{r} - r + 1r\sqrt{r}}{1r} = \frac{1r\sqrt{r}}{1r} = \sqrt{r} \quad (11)$$

$$a_1 = r, a_n = r^n \rightarrow n - r = r^n - r \rightarrow n = r^n - 1 \quad (12)$$

$$n = r + nd \rightarrow nd = 9 \rightarrow d = \frac{9}{n} \rightarrow a_{r^n-1} = a_1 + ((r^n-1)-1)d$$

$$r^n = r + (r^n - r)d$$

$$r^n = (r^n - r)d \rightarrow 1\omega = (r^n - 1)\omega$$

$$1\omega = (r^n - 1) \times \frac{9}{n}$$

$$1a) n = 9(2n-1) \rightarrow 1a) n = 11n - 9 \rightarrow n = 3$$

$$a_n + a_{n+2} = a_{2n} + a_{2n}$$

(10)

$$(a_1 + 2d + a_1 + 4d) = 2a_1 + 6d \rightarrow 2n + 2 = 11 \rightarrow n = 1$$

$$a_n = \frac{2a_n}{2} \rightarrow 2a_1 = a_n$$

$$a_1 + 4d = 2a_1 + 6d \rightarrow a_1 = -2d \rightarrow a_m = (a_1 + (m-1)d) = -2d + (m-1)d = 0$$

$$\Rightarrow d(m-2) = 0$$

اگر d ، صفر باشد، دنباله ثابت است. $\leftarrow$ $m-2$ برابر صفر است.

$$\Rightarrow a_2 = 0$$